ME: Microeconomics for Public Policy

Coursework 4
Problem 1
Proof that if ln(x)=a+bln(px)+cln(py), then the elasticity of x with respect to px is given by the parameter b, and then the elasticity of x with respect to py is given by the parameter c. Though this is trivial, when solving this exercise, you should notice that this function is imposing the restriction that the elasticity is constant.

Fix py to a positive number of your choice and graph the relation between x and px
Problems from Nicholson’s book:
5.6, except part (e)

7.2

7.3, only parts (a) and (b)
7.7, only part (a)
8.4 
